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0

also gradient of the tangent=2a(2)+b=4a+b= 0-4 ,

6-2
Sda+b=-1...(2)
Solve (1) and (2) simultaneously, a = —% and b=5
Q10bi Gradient of VQ = gradient of QU
: V_4:4_0,v—4: 8 y=d+ 8 = 4u
0-2 2—-u u—2 u—2 u—2
2u?

Q10bii Shaded area A(x)= Lv_g=
2 u—>2

Let Z—A =0 to find the turning point(s).
u

(=2)a)= X0 _ .0 e —0 ol —a)—
= =0 . 2u*-8u=0, 2ulu—4)=0.

2
Since u >0, .: u=4 and A=£)—8=8
4-2
2(3)
First end point at u=§, A= (2) -8=17
2 2-2
2
Second end pointat u=6, A= 2(62)—8210

. A . =8 square units

‘min

Q10biii From partii, A , =17 square units at u =%
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